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Questions

The stolen child has not been able to recall where

Nouman will not be able to attend the class today because

Shakir would have studied engineering if he

to an engineering college

in the class

Khalid's score on the test is

Notorious killer Sangi killed his uncle

The corporation executives have decided and

many inefficient workers

After a formal session in the college annual parent's day, the parents were told to

He studied the new project

The villagers of Muzaffargarh were told to evacuate their houses

the best bike to buy is a CD 70

Answers Choice
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Does he live

He lives

Did he live

Lived him

He will have watching movie
He will be watching movie
He is watching a movie

He watches a movie

Enter

Had been admitted
Admitted

Were admitted

The highest

More high

High

Highest

When he was sixteen years old
When sixteen years old

In the age of sixteen years
At the age of sixteen

They have fired
Fire

They fired
Fired

Talk in a loud manner
Speak freely

Spoke freely

Have spoken freely

Anxiously

Was anxious after he
With more anxious
More anxiously

As the water rises

When the water began to rise
When the water begin to rise
As the water begin to rise

Because of its economy,
Because of it is very economical,
Because of economy wise it is

better,

D.

Because of its economical,



